
Mix in a blender:

2 cups plain yogurt

2 teaspoons vanilla extract

3 cups frozen raspberries, thawed

1 pint strawberry ice cream

Berry Shake

Mix in large punchbowl:

1 gallon orange juice

2 quarts pineapple juice

6 pints lime sherbet

1 quart ginger ale

Fruit Punch

Customary Units of Capacity
Jennifer used the recipes below to make drinks for her party. 
Use the recipes to solve each problem. 

 1. How many pints of plain yogurt 
did Jennifer use for the berry 
shake?

 3. Did Jennifer use more pineapple 
juice or lime sherbet in the punch? 
How many pints more?

 5. The difference between these two 
punch ingredient amounts is 6 pints. 
What are the ingredients?

 2. How many cups of ginger ale 
did Jennifer use for the 
fruit punch?

 4. Jennifer used the same amount 
of 2 ingredients to make the 
shakes. Which ingredients 
are they?

 6. Jennifer decides to make only half 
as much fruit punch. How many 
cups of juice (pineapple and orange) 
will she need?  
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